1- as the resistance load decrease the current load increases. So they are inversely proportional. This behavior is normal since when the resistance in a wire decreases this let more electrons pass without defending their flow or with less resistance to their flow which means more electrons to pass and this implies a higher current.

2- As the load current increases the bleeder current decreases, this is due to the decresing in the voltage of the load represented by Vb. The resistance in the bleeder part is constant and the voltage is equal to Vb so the current must decrease.or we can say that when the current in the load increase this means tha the resistance is lower in the load line so the current prefers to pass in the load and not in the bleeder which implies the decreasing of the bleeder current.
3- The voltage decreases since the current in the bleeder decreases with constant resistance whish implies this result.

Va=(----)Ibleeder
Vb=(---) I bleeder

4- The values of the table A taken from experiment and those taken from theoretical calculation are very closed sometimes the experimental values are lower a little some times they are higher a little. It’s due to the fact that we do have some errors due to human and instrument sensitivity  and due to the fact that we are not dealing with perfectly ideal conditions..

5- The values are too close but, in the experimental part they are a little bit less since in reality we do not have 1460 ohm resistance for example. We have 1500 for example so this will change a little the value expected in the experiment.
6- the V th measured is a little bit higher than that calculated, but the Rth measured is a little bit lower that that calculated. This difference is due to the reality that there is no such ideal wires with no resistance which means that the current is less in the wires so the voltage is higher. This difference is due to accuracy and man errors..

7- 15 volts

     5.3875 k
The resistance Rth is higher since we have removed a parallel resistance which means that the equivalent resistance must becomes higher. The voltage is higher since it’s not anymore in a closed loop which gives us the value of the DC voltage directly without any loss in any circuit since after opening the circuit at the 2.2K resistance between CD there is no more closed circuit.
8- when RL is shortened, using the value of the current passing in the short circuit we can deduce the total current flowing in the circuit so by deviding the voltage of the source(15volts) over the total current we obtain the Rth.
When we short circuit the DC voltage we can calculate the Rth easily and we obtain the same value since we are dealing with the same circuit and this doesn’t affect the value of the Rth.
